Unit 11 Extra Credit
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Which of the following would not make a good buffering system?

	a.
	NH3 and NH4+
	c.
	SO42- and H2SO4

	b.
	CH3COO- and CH3COOH
	d.
	HCO3- and H2CO3


____
2.
A buffer solution is formed by adding 0.500 mol of sodium acetate and 0.500 mol of acetic acid to 1.00 L H2O. What is the pH of the solution at equilibrium? (Ka = 1.80 x 10-5)

	a.
	5.05
	c.
	4.74

	b.
	4.44
	d.
	2.38


____
3.
Which is the stronger acid?




	a.
	HS-, Ka = 1.3 x 10-14
	b.
	HOCl, Ka = 3.5 x 10-8
	c.
	NH4+ , 
Ka = 5.6 x 10-10


____
4.
How many grams of sodium acetate (MW = 82.0) needs to be added to 500.0 mL of 0.200 molar acetic acid (Ka = 1.80 x 10-5) in order to make a buffer with pH = 5.000?

	a.
	14.9
	c.
	69

	b.
	0.180
	d.
	29.5


Short Answer

5.
The following are either acids or bases.  Classify each as a strong acid (SA), weak acid (WA), strong base (SB), or weak base (WB).

a) HBr



d) HClO4     


g) KOH      

b) C5H5N     


e) HOI     


h) NH3    

c) HNO2    


f) HF



i)  Be(OH)2

6.
Label the conjugate acid-base pairs for the following reaction:
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.

7.
Write the chemical reaction that occurs when HOBr reacts with water.

Write the acid dissociation product (Ka) for HOBr.

What is the pH of a 0.5 M solution of HOBr if Ka = 2.5*10-9?

.

8.
Calculate the pH of a 0.25 M solution of Ca(OH)2.

.

9.
Write the chemical reaction that occurs when CH3NH2 reacts with water.

Write the base dissociation product (Kb) for CH3NH2.
What is the pH of a 1.0 M solution of CH3NH2  if Kb = 4.4*10-4?

.

10.
Write the solubility product (Ksp) for PbCl2.

Calculate the molar solubility of PbCl2 in 0.20 M Pb(NO3)2 solution.

.

11.
What is the hydrogen ion concentration of a HCl solution that has a pH of 2.0?

.

12.
Determine the pH at each for HCl being titrated with a NaOH and state the major substances present. 

50 mL of 0.20 M HCl titrated with 10 mL of 0.15 M NaOH?

50 mL of 0.20 M HCl titrated with 100 mL of 0.15 M NaOH?

.

13.
Determine the pH and state the major substances present at each for HF (Ka= 6.8*10-4) being titrated with NaOH:

25 mL of 1.0 M HF when 0.0 mL of 1.0 M NaOH is added

at half-equivalence pt.

at equivalence pt

25. ml of 1.0 M HF titrated with 30. mL of 1.0 M NaOH

